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INSTRUCTIONS TO CANDIDATES

The Question Paper will be given in the form of a Question Booklet. There will be four
versions of Question Booklets with Question Booklet Alpha Code viz. A, B, C & D.

The Question Booklet Alpha Code will be printed on the top left margin of the facing sheet
of the Question Booklet.

The Question Booklet Alpha Code allotted to you will be noted in your seating position in
the Examination Hall.

If you get a Question Booklet where the alpha code does not match to the allotted Alpha
Code in the seating position, please draw the attention of the Invigilator IMMEDIATELY.

The Question Booklet Serial Number is printed on the top right margin of the facing sheet. If your
Ouestign Booklet is un-numbered, please get it replaced by new Question Booklet with same
Alpha Code.

The Question Booklet will be sealed at the middle of the right margin. Candidate should
not open the Question Booklet, until the indication is given to start answering.

Immediately after the commencement of the examination, the candidate should check that
the Question Booklet supplied to him/her contains all the 100 questions in serial order. The
Question Booklet does not have unprinted or torn or missing pages and if so he/she should
bring it to the notice of the Invigilator and get it replaced by a complete booklet with same Alpha
Code. This is most important.

Question Serial No. 1 to 80 are printed both in English and in Tamil. Doubts regarding
the meaning and translation of Question Serial No. 1 to 80 will be settled based on the
Questions in English.

Two blank pages are provided before the last page of this Question Paper for rough
work.

Please read carefully all the instructions on the reverse of the Answer Sheet before
marking your answers.

Each question is provided with four choices (A), (B), (C) and (D) having one correct answer.
Choose the correct answer and darken the bubble corresponding to the question number
using Blue or Black Ball Point Pen in the OMR Answer Sheet.

Each correct answer carries 1 mark and for each wrong answer 1/3 mark will be
deducted. No negative mark for unattended questions.

No candidate will be allowed to leave the examination hall till the end of the session and
without handing over his/her Answer Sheet to the Invigilator. Candidates should ensure
that the Invigilator has verified all the entries in the Register Number Coding Sheet and
that the Invigilator has affixed his/her signature in the space provided.

Strict compliance of instructions is essential. Any malpractice or attempt to commit any
kind of malpractice in the Examination will result in the disqualification of the candidate.
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1. In which Sanskrit work the important cities of Medieval Kerala are described ?
A) Mooshakavamsa B) Pradyumnabhyudayam
C) Sukasandesam D) Sivavilasa

2. Who was the first editor of the journal “The Indian Sociologist” ?
A) Montegue B) Shyamiji Krishna Verma
C) G.G. Agarkar D) R.C. Dutt

3. “Radical Democratic Party” was founded by
A) M.N. Roy B) A.O. Hume
C) Gopalakrishna Gokhale D) M.G. Ranade

4. Which organization of the UNO is known as the “Town Meeting of the World” ?
A) The Trusteeship Council B) The Secretariat
C) The Security Council D) The General Assembly

5. Who among the following historian described the Revolt of 1857 as “Wholly unpatriotic
and selfish sepoy mutiny” ?

A) T.R. Holmes B) Sir John Seeley
C) Lord Canning D) James Outram

6. Who is the current Secretary General of ASEAN ?

A) Filippo Grandi B) Dr. Agnes Callamard
C) Fernando Arias D) Dr. Kao Kim Hourn
7. Match List — | and List — Il, and select the correct answer from the options given
below.
List -1 List =1l
Discontinuity Region
a. Gutenberg 1. Crust and mantle
b. Repiti 2. Upper and lower crust
c. Mohorovicic 3. Mantle and core
d. Conrad 4. Outer mantle and inner mantle

A)a-4,b-3,c-1,d-2
B) a-3,b—-4,c-1,d-2
C)a-2,b-4,c-1,d-3
D) a-3,b-2,c-4,d-1
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A) 196901Cum Sgmesstig B) Dr. gyderev smevioii
C) OQurernesstGL_m oyflwimev D) Dr. sme1 &b amiriesr
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alpLriLmisaledmbg Filwurer LS oawg Cxib0)s%(HE%Ha Lb.

L guwied — | L guied = I
Ol mL_iF@ulesremnLo LgmB@uwid
a. @L L eT0)LIig 1. &gavl wpmib GLoesrig ev
b. Qg 2. Guev wpmib &p Fevr
C. QrCaprGrmalfs 3. OGuwetngev opmib G
d. smestgm 4. Gleualliym Groeinged opmyib o 6ir GLoeirig 6v

A)a-4,b-3,c-1,d-2
B) a-3,b—-4,c-1,d-2
C)a-2,b-4,c-1,d-3
D)a-3,b-2,c-4,d-1
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8. Consider the following statements on sedimentary rocks :
1. They contain fossils and remnants.
2. These rocks are very soft.
3. They are made of many layers.
Identify the correct statement(s) from the options given below.
A) 1 and 2 are correct B) 1 and 3 are correct

C) 2 and 3 are correct D) All are correct

9. Which of the following pairs are correctly matched ?

1. Jog falls —  Karnataka

2. Kapildhara falls -  Meghalaya

3. Dudhsagarfalls -  Goa

A) 1 and 2 are correct B) 2 and 3 are correct
C) 1 and 3 are correct D) All are correct

10. Which of the following separates mainland of India from Sri Lanka ?
A) Palk strait B) McMohan line

C) Ten degree channel D) Radcliffe line

11. Which of the following river of Kerala is East flowing ?
A) Pambar river B) Manimala river
C) Chaliyar river D) Kuttiyadi river

12. NASA'’s Curiosity Rover recently captured the crepuscular rays on which planet ?
A) Venus B) Mars C) Jupiter D) Earth

13. Which pairs are correctly matched ?

A B
1. SIDBI — Public Sector Bank
2. Munich Re — Re-insurance Companies
3. lIFCL — Financial Institutions
4. NHB — Private Sector Bank
A) Only 1 and 2 B) Only 2 and 3
C) Only 3and 4 D) Only 1 and 4

A -4-
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4. NHB - seflumt Heon auB%)
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C) 3 wpmiib 4 o1 (HiLb D) 1 wpmib 4 or” (H1ib
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14. Consider the following statements. Which of the statements are correct ?
1. Green Revolution technology is a package of HYV seeds-fertilizers-irrigation.
2. Agriculture price commission was set up in 1965.
3. IAAP was implemented in 1961.
4. M.S. Swaminathan is the father of Green Revolution.
A) Only 1,2 and 3 B) Only 2, 3 and 4
C) Only 3,4 and 1 D) Only 4,1 and 2

15. In relation to Goods and Service Tax which of the following are correct ?
1. GST on Milk, Fruits and Vegetables is 5%.
2. A destination-based tax implemented on 15t July 2017.
3. Overcome cascading effect and reduction in multiplicity of indirect taxes.

4. GST council is a constitutional body.

A) Only 1,2 and 3 B) Only 2, 3 and 4
C) Only 3,4 and 1 D) Only 4,1 and 2
16. Which of the following are correctly matched ?
A B

1. Harrod Domar —  First Five Year Plan

2. Mahalanobis Model —  Second Five Year Plan
3. Rapid and more inclusive growth —  Twelfth Five Year Plan
4. D.P. Dhar Model —  Fifth Five Year Plan

A) Only 1,2 and 3 B) Only 2, 3 and 4

C) Only 3,4 and 1 D) Only 4,1 and 2

17. Which of the fact is incorrect regarding economic reforms ?

1. Indian currency was appreciated against foreign in 1991 to overcome the
BoP crisis.

2. Before the deregulation of the Industrial sector, 17 industries were reserved under
public sector.

3. Foreign exchange market, Stock exchange market, Banking and non-banking financial
institutions are a part of fiscal reforms.

A) Only 1 and 2 B) Only 2 and 3

C) Only 1 and 3 D) All1,2and 3
A -6-
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18. Which of the following is correctly matched ?

A B
1. World Bank — Ajay Banga
2. World Meteorological Organisation—  A. Almandous
3. Confederation of Indian Industries — R. Dinesh
A) Only 1 B) Only 2
C) Only 3 D) All1,2and 3

19. Who among the following was not a member of the Drafting Committee of
Indian Constitution ?

A) B.R. Ambedkar B) K.M. Munshi
C) Mohammad Sadulla D) Jawaharlal Nehru

20. How Atrticle dealing with Amendment of Constitution (Art. 368) can be amended ?
A) By Simple Majority B) By Special Majority
C) By Special Procedure D) None of the above

21. Who can remove the member of a State Public Service Commission ?
A) President of India B) Governor of the State
C) Chief Minister D) High Court Justice of the State

22. Which among the following is not a ground to issue ‘Writ of Quo Warranto’ ?
A) The office must be Public
B) The respondent must have asserted his claim to such office
C) Office must have been created under Constitution or Statute

D) Public interest does not hold ground in the case

23. How many items contained in the 11" Schedule to the Constitution of India ?
A) 29 B) 30 C) 32 D) 34

24. Which of the following Constitutional Amendment introduced anti defection provisions
in the Indian Constitution ?

A) 54t B) 91s C) 86" D) 97
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25.

26.

27.

28.

29.

Identify the Article which provides protection against ‘double Jeopardy’.
A) Article 19 B) Article 20
C) Article 21 D) Article 22

Which one of the following does not constitute the electoral college for electing the
President of India ?

A) Elected members of Lok Sabha
B) Elected members of Rajya Sabha
C) Elected members of the Legislative Assembly of each State

D) Elected members of the Legislative Council

In the 2022 election of Vice President of India who was the opposition candidate ?
A) Jagdeep Dhankhar B) Rahul Gandhi
C) Margaret Alva D) Yashwant Sinha

Which among the following is true about the Kerala State Disaster Management
Authority (KSDMA) ?

|. KSDMA is a statutory and autonomous body.

[I. Chief Minister of Kerala is the Chairman of the KSDMA.
[ll. The Chief Secretary is the Chief Executive Officer of the KSDMA.

IV. Additional Chief Secretary, Revenue and Disaster Management is the Head of the
Department of KSDMA.

A) LI TG IV B) I, 11,1l C) 1, 1, 1v D) LI IV

What is true about the Fourth round of Health Index launched by NITI Aayog in 2021 ?
|. Kerala emerged as the top-ranking State in terms of overall health performance.

[I. Tamil Nadu and Telangana are the second and third best performers on health
parameters.

[ll. 2019 — 20 was the reference period for the health index.
IV. The report has been prepared with the technical assistance from the WHO.

A) 1 B) I, 1l IV C) I, 11, 1l D) I, 1I, IV

-10-
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1. 2019 — 20 1611z HHa5M085 SHPUTL 19 DEHTEST GHDILIL] HTELOTGLD.
IV. WHO @)eir Glsmflevmi i 2 gallwyr_eir yplsens swmhdsiiul Berears.
A) 1L B) LI IV C) I, 11, 1l D) LIV
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30.

31.

32.

33.

34.

35.

36.

Which stipulates efficient and time bound delivery of services and redress of
grievances by the government, came into being in the year

A) 2010 B) 2012 C) 2014 D) 2016

During the rule of Karthika Thirunal Rama Varma (1758 — 1798) the Chief Executive
Officer of Travancore was known as

A) Dalwa B) Valiya Kariakkar

C) Valiya Sarvadhikari D) Dewan

Rescue Mission Project envisaged by Kerala State Council for Child Welfare since

2017 to extend assistance to the children in trouble and rehabilitate them properly
A) Thanal B) Ammathottil

C) Swanthanam D) Kaliveedu

The place identified for the establishment of Digital Service Park under Kerala Digital

University
A) Kakkanad B) Thonnakkal
C) Chavara D) Aluva

Name a major pollutant that present in the automobile exhausts which reduces
oxygen carrying capacity of blood in human being

A) Arsines B) Ammonia

C) Carbon monoxide D) Nitrogen oxide

‘Bioluminescence is a unique property of certain organisms having the ability to emit
light'. Name an organism having the ability of bioluminescence.

A) Plasmodium B) Ctenoplana

C) Wuchereria D) Hirudinaria

Stop codons are very essential for ending translation of mRNA. Pick out a stop codon
from the following.

A) AUG B) UAG C) UCG D) UUG

-12-
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30. Q&I YIFMBISSST6O oeoLowneT LoHYILD HTevd6lsReys@ 2Ll L Craneusanar
QULPBIGHUSUILD, GH®DI®ET Flouisd OlFuiauenguib Fliewtuilds 2468
A) 2010 B) 2012 C) 2014 D) 2016

31. smig@sr Gprer gieuimaller o Fulesr Cung (1758 — 1798) Hpalsnbignr
SOLD BlTeuTs B S

A) seveur B) aueSlw sfMwssmi

C) owedw griounBsmi D) Seumeir

32. 2017 gy1b Y1) (LpS6D GHLPBMSHET BoVER)I % TS, Fohbedleh 2 6ITaT &LphDHEhd S,
2 SISEET QULPBIHR[LD, aUTH @B (LLEODILITS LONIQUTLPE| Hendhse b GHrar Lomblev
S TFevmed L 1O L 1 161”1y Liessfl L 1b

A) sewied B) oybonGlsm 19 6v
C) eveupgmerib D) saflad
33. Gager gl Lo LbsmassLEsReT Bip 198 L ob Graaull LyBIsT el ILSHsms
QIEOL_WAGTLD SHAGRTLILIL L (@)1 LD
A) 5155610 B) Glsreirendsev
C) gmaugm D) <yeyeur

34. weflgisailey QudssFer Yydhedlgamaer 1(hFaHF CFvID DDeerTs &M EGLD
9L CL_mGlwrewued OeuallCuppiisaflch QBEGLD @05 (PGB LonFHLI(B)S S ulesr
Quwengs @G _ayLb

A) yiemFsiTen B) oybGiomesfluim

C) smiuesr Gomestidens(h) D) enpL gegett 9 dhamF(h

35. ‘LGuwmeyhGlerev GlFeiTan 6TeiTLIGI gpaflemws 2 LO(LpLb Hmett Clsressi Fev o ullfesbisefes
safldgiaunnes CaFnsg. LICwrayh6lareavblFsav Fper Clsmess_ @ o ulferLb
A) errevGromg uith B) 90)_GesrmriiCoreorm
C) oysQ&Guuwim D) ey esrmmlwim

36. MRNA Qeir yrrarevCvapemer Loy d@GHs ClETaT Bl BUSDH G VL TLI
Cammer g d eu&wib. LleraueuasteuPPledBhg @b vl CarL_enesd
G015 (H$&0Lb.

A) AUG B) UAG C) UCG D) UUG

A 13-
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37.

38.

39.

40.

41.

42.

43.

ECG is used for understanding the normal working of human heart. An ECG
consist of mainly three waves namely P wave, QRS complex and T wave in which
QRS complex represents

A) Ventricular depolarisation B) Atrial depolarisation
C) Ventricular repolarisation D) Atrial repolarisation

A pathogen named plasmodium is transmitting the disease malaria in human being.
Write the catagory to which this organism belongs.

A) Bacteria B) Fungus
C) Roundworm D) Protozoa

Small quantities of mercury placed on a clean glass plate assume spherical shapes.
The reason behind this is

A) Viscous force B) Surface tension
C) Buoyant force D) Capillarity

Arrange microwaves, ultraviolet rays, radio waves and infrared rays in the ascending
order of their energy.

A) microwaves < ultraviolet rays < radio waves < infrared rays
B) infrared rays < ultraviolet rays < radio waves < microwaves
C) radio waves < microwaves < infrared rays < ultraviolet rays
D) radio waves < ultraviolet rays < microwaves < infrared rays

When a body is moved from the equator to the south pole, its weight
A) Increases B) Decreases

C) Remains the same D) Becomes zero

A cricket ball is thrown up making an angle 45° with the horizontal. The angle between
velocity and acceleration, when the ball is at maximum height, is

A) 0° B) 120° C) 180° D) 90°

Which gas is produced when metals react with steam ?
A) Oxygen B) Hydrogen
C) Carbon dioxide D) Nitrogen
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37. wells QswgF et QuicvLimest OFwevim enL 1 Lfia 6% meter ECG LiwesL(hSma).
@ ECG wéfuwiwnrs P 9emev, QRS smblierdev wpmib T emev e1e0 eLpesimy
Ydvsmars GClasmea(herars. @& QRS smblilersev erens GPISHDE 2
A) Geuesr M@evii 19 CLimeven gGFagas B) e Muwed 19 Cuimeven gGaayest
C) Geustr_M@evir MGLTeVen gGFayet D) e Mwed MGLmeven gGFausst

38. ermewCGomguwih eresip Cpmuis& L esflgens@ wCevlwr Crreow LTl D).
@b 2 uiflestid e1hs uensewdF CFibSSH GTRHTLIDS GT(LPSIBI%HGET.

A) ungie Muwim

B) yepems

C) au L yup D) yGum GL_nGsmeur

39. FSHFLOTGT FeTITIYS HL 1360 ®aUSGSLILIBLD FPlw yerallevmes LnsgFd Gsmar
AU QUGS T(HSEISG OlGTHBDS. QF6T LicsTarressiiuilch 2 GiTaT &mTIewTLD

A) Oaey alevs B) Gupugliy ugmmib

C) semar allens D) Gsilevii 19
40.

[BIGRTGRTGHGVSGT, LD 2615md $Fi%er, Gy Cuim 9emeEer Lopmitb EFFeuliLs

FG BT YauPmleT YnHmedlest emiauflenFulleh aumenaiiLi(hdgimbiser

A) miessTenTan VST < LD 20151 &) iH6T < Grig Cuim emeE6r < SFFQILIL] 55 TH6T
B) wssfauliy s@iser < yp 20151 $5)iF6T < Crig Cuim 2)eneE6T < Bl GHT6wTen GVSE 6T

C) CuiyCuim 9emeuse6ir < BIGRTCRTEHVHET < YFFFULIL FBTSHET < L|D 261851 &F) %6

D) GuiyCuwim emevs6r < Lip 26151 $F)TH6T < [BIGHTHTDVEHT < HSFFQILIL] 55 TH6T

41. ywsswu Coensullelpipg C&6T HIBHAUSHDGH R 2 L6 baisHIbCLTS, 2F6T
6TGOL_,
A) 25s5Ms6Ds B) e@pn&psi
C) <@g Cur o 6irens) D) ysadwion@mg)

42. em HMs0s’ upg CwGe erPwiiul B 45° Csrewseas Heol ol L 1oT%
2 (BUTHGHBDSI. LUbH ADSLULF 2 wisFHev @Qhs@ Cung, Geuslb opmiLb
L BS555515@ @ enL_Cw 2 eirer G mewTLb

A) 0° B) 120° C) 180° D) 90°

43. o Gevnsmiser pomailuyL_esr allenetiymuybGLimg o (Heun@Lb eumy 61% 9

A) opgedggett B) ewami gegesr

C) smiuer enl_ gy dewa(h) D) ewpL megesr
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44. What are the naturally occurring isotopes of carbon ?

A) 2C and "“C B) C and “C
C) ""C and 2C D) '2C and *C

45. The hypothetical temperature at which gases are supposed to occupy zero volume
is called absolute zero. This is according to which of the following gas law ?

A) Charles’ law B) Gay Lussac’s law
C) Boyle’s law D) Avogadro law

46. Give the conjugate acid-base pair of HSO, .

A) H,SO, and SO, B) H,SO, and SO%

C) H,SO, and SO%- D) HSO, and SO,
47. Which of the following is not matched correctly ?

A) Uttaraswayamvaram — lrayimman Thampi

B) Kalyanasaugandhikam —  Kottayam Thampuran

C) Seethaswayamvaram —  Kottarakkara Thampuran

D) Dakshayagam — Unnayi Warrier

48. Which of the following are true about Mohiniyattam ?
i. Mohiniyattam follows the style of lasya.
ii. Reference of Mohiniyattam can be found in the text Vyavaharamala.
iii. Chollukettu in Mohiniyattam is structured by Vadivelu.

iv. Kanak Rele is a key person in the revival and popularisation of Mohiniyattam.

A) Only i and ii B) Only ii and iii

C) Only i, iiand iv D) All the above
49. Which of the following is matched correctly ?

A) Mayookha Johny — Badminton

B) Jimmy George —  Volleyball

C) Raja Venkataraman — Basketball

D) Dinesh Nayak — Kabaddi

50. Which of the following film is not directed by Satyajith Ray ?
A) Jalasagar B) Charulata
C) Ek Din Pratidin D) Nayak
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44. smiuelesr @Qupenswins srewtliLGb @CFTGL TLILS6T wiTemal ?
A) 2C wpmib *C B) 5C ommib C
C) "C wmmib ?C D) 2C wmmb *C

45. eumuysser Lgadl ereney bG IS eiores OleuLlILIBlenev (Lp(LpEw LD TENT
LygouiLh 61681 SeOLpSSLILIREDS. Q)51 LI6sTal(BLb 6Tbs eumt FL L SF6HT Lig 2 6iTeng) ?
A) gmievedest 1”1 _Lb B) Gz ayamé&eir 1”1 1b

C) umflev &' 1 1b D) weusm Gum o1”1_1b

46. HSO, &1 @evewr oybev oyug LiLienr_udevresr Gegmigevuwid 6505 ® miser

A) H,S0, and SO, B) H,SO, and SO

C) H,SO, and SO%- D) HSO, and SO,
47. ereumeuataupmled 615 Flwnsls Glunmphsaleveney ?

A) 2 gggreveuwbagLb - @epuiltbioest HLbLd

B) savwrewmQearsp@sb —  GsmlL_wib SLbLjImeT

C) EsmaveuwibauygLd —  Q&r’ L_nyssny SLbLgmest

D) sepwnsib — 2 cvwewTmul eumAlwii

48. CGur@eflwm L b Lpp L6TeuheuasToUPDDIc) 618 2 GRTemLD ?
i. Cur&esflum L tb evmevw Limesilenw s L9STLD B DSI.
ii. Cum@eflwm L b upPlw GBlrieor ewreIaDTILDIeVT 616D BIGOIG) HTERTGVTLD.
iii. Cureilwum L e QFTeva0sL B ey Caua)aimed L1 _odsLILL L g).

iv. Cur@eflwm’ L e wpiwevidd wpmib LAgueliLRSsalled seards 6lgGa 6

(LPSFWw BLI.
A) i opmiih i oL BLb B) i opmyib iii o b
C) i, i Lopmytb iV o (B)Lb D) Guwle o ditar eneidsiLb

49. ereumeuatoupnmlev 61% Filwns OLmpbHIS DS 2

A) st ggmest) - ylups)

B) &ibid gomiieh - ®SLILbS
C) gmegm QeumisL_grioc - &L LILbG
D) 9Geray pmws - sUIQ

50. &G OGsr®s$sLiLL ReretaupPled FSwdld Cr QuissEng LL LD 618 ?
A) sevnansi B) snmpevsm
C) a8 a1 L9799 S etr D) mmws
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51.

52.

53.

54.

55.

56.

57.

58.

59.

60.

If 60% of x —y equals 40% of x + y, then what percentage of xisy ?
A) 25% B) 20% C) 60% D) 45%

A man bought a cycle for Rs. 2,000, spends Rs. 250 for repairing and sells it at
10% loss. The selling price of the cycle (in Rs.) is

A) 2,025 B) 2,250 C) 2,000 D) 1,800

If 70 — 7" = 2058, then what is the value of n ?
A) 2 B) 4 C) 6 D) 8

The 25" term of the sequence 4, 9, 8, 18, 12, 27, 16, 36, ... is
A) 108 B) 112 C) 52 D) 76

A girl is riding her car at a speed of 25 m/s for 6 hrs. The distance (in Km) travelled
by her is

A) 540 B) 640 C) 740 D) 840
Find the one which does not belong to the group.

A) Cube B) Cuboid

C) Rectangular Pyramid D) Rectangular Prism

Abi is facing East. He turns 45° in the clockwise direction and then another 180° in

the anticlockwise direction then 90° in the clockwise direction. Which direction is he
facing now ?

A) South-East B) North-West
C) South-West D) North-East

The next term in the series 5, 19, 80, ... is
A) 440 B) 404 C) 201 D) 320

In a certain coding system, the word PERMUTATIONS is written as RGPKWVYRKQLQ.
Then in the same coding system COMBINATIONS is written as

A) DQLZJPYSKQLQ B) EQKZKPYRKQLQ
C) EQKZPKRYQKLQ D) DRZPRYZKEQLQ

If 15t February 2022 was Tuesday, then what was the day of the week on
14" November 2022 ?

A) Monday B) Tuesday
C) Wednesday D) Thursday
-18-
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X =Yy @t 60% ez X +Y @6t 40% & Foib eresled, X Q6T 1dFT FHaisHLD
y 2AStb 2
A) 25% B) 20% C) 60% D) 45%

(b Loashigei e, 2,0008@ enadGlenar eunsiG), LpgLImiLILgn@ en. 250 ClFevey OFuig)
10% poyL S DFwrest. evgs&Hafler allpLemest allenev (emLimuied)

A) 2,025 B) 2,250 C) 2,000 D) 1,800
7" = 7" = 2058, erafleb N @67 LOG)LIL 6TGHTGS ?

A) 2 B) 4 C) 6 D) 8
4,9, 8,18, 12,27, 16, 36, ... er6itp cuflenguileir 25618 LiFLb

A) 108 B) 112 C) 52 D) 76

R OlLicssT H6v1) Hmewg 25 M/S CeaussGFlev 6 Loewst! CruLb gL HBmI6T. 6T Liwicwlss
gnib (Km uflev)

A) 540 B) 640 C) 740 D) 840
G@pailed CFgng @eitenmd HeTL_PliicLb.

A) sar F5101D B) @uwumii®

C) Ggaicus 9gH® D) Gaaieus Liflgib

99 Bps@ Crrss @QpsSpri. eur s19a617 HensFuiled 45° oPmid 61%)1%H19.5mT
Seavsuiev wnHGlprmm 180° , Werert sysry HevFuled 90° FpLbyBpmi. eurr
Q@uGLgy) e1hs Hevseww GrrEs Q) BSH DT ?

A) Oser&psE B) ouL Cupns
C) GaarGop@ D) oL Fps@

5,19, 80, ... erasip Gl1L_Mer 9 BHSS LisLD
A) 440 B) 404 C) 201 D) 320

R GO L GPLC B w9, PERMUTATIONS ereip cumigens
RGPKWVYRKQLQ erewr erpslivi®@pg. Lestesti 94Gs @mluil B 9ewiolifed
COMBINATIONS er681118y 61010119 6T(LpSLILIL (HGTATS

A) DQLZJPYSKQLQ B) EQKZKPYRKQLQ
C) EQKZPKRYQKLQ D) DRZPRYZKEQLQ

igeuf 1, 2022 Qseieumis e1esipmev, peutbiii 14, 2022 oy6iim aumgSS) e 61656
[BIeiT 9

A) @riser B) Qgaiaumui

C) ysesr D) aQuimpesr
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61. The proceedings under Code of Criminal Procedure for the collection of evidence

conducted by a Police Officer or by any person who is authorised by a Magistrate

is called
A) Inquiry B) Investigation
C) Judicial Proceeding D) Both A) and C)

62. Warrant-case means a case relating to an offence punishable with
A) death
B) imprisonment for life
C) imprisonment for a term exceeding two years

D) all the above

63. The Executive Magistrate can require a person to show cause why he should not
be ordered to execute a bond with sureties for his good behaviour if he habitually
commits any offence under

A) The Drugs and Cosmetics Act, 1940

B) The Employees Provident Fund [and Family Pension Fund] Act, 1952
C) The Essential Commodities Act, 1955

D) All the above

64. When a person commits sexual assault under the Protection of Children from Sexual
Offences Act, 2012, he shall be punished

A) With imprisonment of either description for a term which shall not be less than
three years but which may extend to five years, and shall also be liable to fine

B) With imprisonment of either description for a term which shall not be less than
two years but which may extend to five years, and shall also be liable to fine of
Rs. 10,000

C) With imprisonment of either description for a term which shall not be less than one
year but which may extend to five years, and shall also be liable to fine of
Rs. 5,000

D) With imprisonment for a term two years and shall also be liable to fine
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R(Ib STUDGID DS Yevevg LoTdlavG G’ L_med ymESHMSSLILIL L 61hs0)eums
BUIT BLSSLILIRLD FT Furisener CFsMliLgnsiet GPpailiicd benl (LpeonF
FL L SGGHT SLpTeST Lo SHFH6T Q)LUILIG e pdHLILIHS DS

A) @t B) @eirGleuavig Csgesr

C) pBsgI®D BLaug s D) A) wpmib C) @uevs(pib

QUTTGHTL. QULPS & GTGTLIG GDOLD CFTL_TLITEST eupdSHdh@ Q)b SeoTL_ 068
QIO

A) LogewT H68TL_6me6uT

B) w6t sevstL_emer

C) Quewsi(® 2a@7(Bh%en5@H CLocd FenmdsessL et

D) GoGoev 2 direr ojemeidgLb

1SRG 1961 rdlev CuLl’, e BT GLpsaT aGseid GDDSs S OFUIFTeD,
DQUIHEL_WLI BV BL_SeSdHHM%H QML @HL_6T LiSB IS5 HlaopCounm 2 ssgaill_g%
Fol_1%] GTRTLISDSTGT HTIwTSSHS% ST (HLbLilg CHmyevmLb.

A) @GESISET DD SypEGsTSaL QUG sdr #11_1b, 1940

B) eanfluiisefler aumprisme eveuliy B [Lopmitb &@LbL euiey@w H1F)] 1 1b, 1952
C) wsBwmeuPw ClurmL ser & 1b, 1955

D) Guwlev o ditar 9eneidsiLb

umediwed GHoEIFHeley QBhS GHLHedSFnarLl LITg%HT1sHEwh FL 1 b, 2012 &r Sip

@uheui Lmedwed ueTOlsT(Rents CFUIFTD, eur @)LILIG S6TLy&sLILIBeuTT

A) epeiin Y ETHEEFSGHS GHODIWTS, YGTTD @bEI TR T HL 19555
FnlY W R(h FTVSFDHTT allaTdsdP 6T FennssenTL eyl o1, GLogYILD SLITTHLD
al@SEL1L1(B)LD

B) Quaw®h o arhserd@Hs GoODWTS, YTTeO @bH 60 (BH6T 6len T
BLSSLILL GFnlq Ul @ FTVSHDHTRT aNlaTd:sSF 6 FlennssenTL_ eneiyL G,
Guogyiib em. 10,000 oyignspb @B SSEL1L1(BILD

C) 0B uBLSDDGS GODWTS, YTTeO 2bd 2AeSTHHET T HL 19 Hdhdnlq 1
R(5 HTVSHDHTT IeTdhsdE e Fenmss et _emeruL_es1, Goeytb emr. 5,000
QLIITSLPLD aINBSHLILI(HILD

D) @ues(h et(hs6T FHewndsenTL_enesil 65T HLFTHLPLD allFSHL1LIHILD
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65. Which of the following is incorrect with respect to recording of statement of a child
under Protection of Children from Sexual Offences Act, 2012 ?

A) The statement of the child shall be recorded at the residence of the child

B) The statement of the child as far as practicable be recorded by a woman police officer

not below the rank of sub-inspector
C) The police officer while recording the statement of the child shall be in uniform

D) The police officer shall ensure that the identity of the child is protected from the public
media

66. Punishment for identity theft is
A) Section 66 C of Information Technology Act, 2000
B) Section 378 of Indian Penal Code
C) Section 66 B of Information Technology Act, 2000
D) None of the above

67. An offence with three years imprisonment under Information Technology Act, 2000

shall be
A) Cognizable B) Bailable
C) Both A) and B) are correct D) None of the above

68. Which provision of Right to Information Act deals with disclosure of third party
information ?

A) Section 7 B) Section 10 C) Section 11 D) Section 12

69. Which of the following statement is correct with respect to Section 31A of Narcotic
Drugs and Psychotropic Substances Act, 1985 ?

A) Death penalty can be imposed for subsequent conviction in respect of commission
of an offence relating to production, manufacture of narcotic drugs or psychotropic
substances for specified quantities of certain narcotic drugs or psychotropic
substances

B) Death penalty can be imposed for subsequent conviction in respect of attempt
to commit or abetment of, or criminal conspiracy to commit an offence relating
to possession, transportation, import into India of narcotic drugs or psychotropic
substances for specified quantities of certain narcotic drugs or psychotropic
substances

C) Both A) and B) are correct

D) None of the above
A -22-
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65. uneSlwed GoPEISalcd @Q)Bba GLLBMSH®ETL LITGSTHGLD FL L b, 2012 &1 &1

66.

67.

68.

69.

R GpbosuileT yPsmsawls LFe CFwiag OFTL_iLins L6T6ueeTeUnHeD

615 SAUDTGES| 9

A) GwimsulleT aund@Gepevib & Lphensulle QevavdPed LISey ClFuwiii
Gauesr(h)Lb

B) #ui@erav0uss it Lgalld@d Gopwns @i Gl sreucgienn B smiwimed,
GLHSUINGT UTHGHAPVSMS, BOL (LLeODEGHS Falyll cuemguiled LG ey OlFuiw
Goues@1b

C) wwiamsuiler gplsamasamu LBea) OFinb CLng sreaucvsienm S5 FpenL_ulle
@) p55 Cauess(RILD

D) Gung san_£53)60 GLpBeSUNGHT e L_WTGTLD LITGISTESLILIB6UHS HTaUDSIGHD
Dsmh 2 B Gl Caiewsr(hLb

QYL WTT (5L (h&H TG S GHsTL_ 5 GST

A) saeued Glsmflevm i s 1b 2000 @er 9flay 66 C

B) @p55w sewi_emend #11_sFesr L9Mley 378

C) szeued Oasmflevm i g1 b 2000 @)eir L9Mley 66 B

D) GG e1giab @Q)evemev

Saauc Olsmflevm 11 g1 _1b 2000 67 SLp eLpGHTHI 24, 6WT(HFHGT Flew DS CHTL_ e GOTIL|L_GHT
Falg W SDPLOTOIS]

A) olws gmigwsg (Cognizable) B) @mbasflev Glouafleugsdnigwig)

C) A) wpmib B) @uess®b &ifl D) GuGe s1g1ayb Q)evemev

SHaUGO Ymlujb 2 Mewiod FL' L SH 6T 61bs allG) eLPGIDILD FILIL| FHUHEHEDGT
OevallulBeug CFmL_riLimesig 2

A) fley 7 B) ey 10 C) ey 11 D) 9fey 12

Cunens LoBE&IS6T PmId eadCasm Cumis ClummpL ser #i°r_1b 1985 @6t L9Mey

31A Qgr_iung ereumd Plsessaflcy 61g Filwmers ?

A eI L gearey CuUrews WHESHFT Yowg aFsCGasrl Crriis
Qun@pL S epdHT6T CLITENS LD(BhSISET VG FsCHTL Cymiid ClmipL sener
2 MLSH OFuige), 2 PSS CFuiged GG TLimTesT &GPDSPer OlFwevLm 19mHE
LDJGEST HRTL_0&sT NS EHLILIL_GUITLD

B) eoul L ety Curewsls Gunmeiseer QBFwmaln@er adS)(HLILIS,
Cuns@eunsgl GFuISeD, @Qno@LE CFiFGD CFTLiumer Gppsans, GClFdiw
LwuPd CFIFed, YOG FHTBTHF, Yeves GOpalwed F& OFuiged
YWD BIeO 9 (5SS (HS3I BleBLISHLILIL L T6V LOTEST F6WTL_e68T aIFbBLILIL_GUTLD.
Fov CUTens LO(BBSHIF6T eVevE F&CHTL Crmiig Oum L seir

C) A) wppiib B) @uesspib Filwmesena

D) GG e1giab @)evemev
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70. Punishment for consumption of any narcotic drug or psychotropic substance

A) Imprisonment for 3 months and fine of one lakh rupees

B) With rigorous imprisonment for a term which may extend to two years, or with fine
which may extend to twenty thousand rupees; or with both

C) With rigorous imprisonment for a term which may extend to one year, or with fine
which may extend to twenty thousand rupees; or with both

D) With rigorous imprisonment for a term which may extend to 6 months, or with fine
which may extend to ten thousand rupees; or with both

71. The original architects of social disorganization theory that explains the link between

neighbourhoods and crime are
A) Shaw and McKay

B) Lombroso, Ferri, Raffaeleo and Garofalo

C) Jeremy Bentham and Cesare Baccaria
D) None of the above

72. According to
A) Deterrent
C) Retributive

theory, repentance by the offender itself is a punishment.
B) Expiatory
D) Preventive

73. In which of the following offences under the Indian Penal Code, 1860, ‘preparation’
is punishable ?

A) Dacoity
C) Hurt

B) Murder
D) Assault

74. Any hurt which causes the sufferer to be during the span of days in severe
bodily pain, or unable to follow his ordinary pursuits, is designated as “grievous hurt”
under the Indian Penal Code, 1860.

A) Seven

B) Fourteen
C) Twenty

D) None of the above

75. Which among the following constitutes the offence of public nuisance under
Section 268 of the Indian Penal Code, 1860 ?

A) Air pollution B) Rash driving

C) Unlawful assembly D) None of the above
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70. aGseyib Curews hHE Vg ®FECsT Cumiis Oummener o L Glsmessr_med

71.

72.

73.

74.

75.

GTGOTGOT & GBOTL_GWIGOT

A) 3 015 PedwSSEESTL 6T LODMILD G3(h UL FLD eHLIMLI SLIFTSLD

B) @uess(®) eupL_si56it e HL 19 SBLILIL_Sdalq Ll H(HGOLOWITCS FIGW DS GHTL_GHGTILL_GST
9evg @QBUSTUNTLD eBLIML auenT B 19 5SSl YUTTSSEHIL GT; VS
@) gewsT(RL_e9)LD

C) o eu@LLb euedy HL 19 S&55n LW &(HELOWTRT F60 DS CUTL_ a0 GOTILL_G5T
9JVeVG @Q)BUSTUINTLD eHLITLI QUIGDT LITTSSHSIL_GT; eV6VS () T6WTL_GILD

D) 6 Lomsmiser ey L 19 555Talg LI XI5 HTVSBINGE HBHEOLOWITEST Fennd; & GCoTL_ eGTIL|L_ 5T
VeV LIGSTUINTLD ehLIMEl Qe BL 1§ $SHE I W LITTSSHSHIL_GT; VeV
Qe (h)L_gpiLb

FHOILILDBIS@hSGLD GDDBISEhSGLD Qe ullevres GCEmLievL alerd@Ld Fops
Figenewayd CHTLLITL 1§65 FD 6ULY GUGHLDLILITATIHGET

A) aur wpmib OsCs

B) GevmbiGunGam, G, 1o%CLeSCuwim opmitd &CBrmosimGeur

C) Qih Qupsd pmib HCFi Qudsmiwm

D) GG e1g1ab Q)evemev

Camum’ 1967 Ly, GDpeuraiuiest LeTpbS HLOLSE6v @k FevTL eneuT.
A) s®Lliumes B) wufsmyib
C) ufleunmsigib D) s®Liy

@BGw sevst_ewers FL1_1b, 1860 61 &1p LIesT0UBLD 6THSH GHDDEIGaN6D, ‘SwmhliLig
SHERTL_eO&wTdh & MG ?

A) L Cemuil 1g

C) smub

B) Osmemev

D) sré@se

BT &elled SHeLowmest 2 L 60 euelulled HeuBLILI(hLIGUT HeVeVH oIS

QUPSHLOTET (LPWPFRSTL LNGTLDD (LI WTD6) HUBLILIGUSD S HTITGHTLOTET
eTBS0leuT(s Smupd QBF W sevsL_emend FL L b, 1860 Qeir &1p “s@ewiowimer
SmuLD’ e1eTm GO _LIL®FDG).

A) e B) u@erresia,
C) Quus D) GuGe s1g1ayb @)evemev

@BPw sevst_ewerd FL 1 1b, 1860 it L9May 268 61 &1, BLpd:aewtL_cumpled

Oungs Osreveeullesr GDDLD 615 ?
A) sapmy wrsELT(k B) Gausons gL (hsev
C) s L a9CugLons gn(hBev D) GuGe s1g1ayb Q)evemev
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76.

77.

78.

79.

80.

Watching or capturing the image of a woman engaging in a private act in circumstances
where she would usually have the expectation of not being observed by any other
person, amounts to the offence of

A) Stalking B) Phishing
C) Voyeurism D) Sexual harassment

Under the provisions of the Kerala Police Act, 2011, the Police may make and keep
of any activity performed by them during the discharge of their duties and

such records may be used in any proceedings in which the correctness of Police
action is called in question.

A) Audio B) Video

C) Electronic records D) None of the above

Which of the following circumstance necessitates immediate police action to locate
a missing person ?

A) The person is in danger; or not under the protection of lawful guardianship

B) The person may be subjected to some dangerous offence

C) The person is absconding to prevent the implementation of a right declared by
court

D) All of the above

Who is empowered under the Kerala Police Act, 2011 to constitute Community

Contact Committees for each police station comprising the local residents of the
area as representatives of the community, to give general assistance to the Police
in the discharge of their duty ?

A) Station House Officer B) District Police Chief
C) State Police Chief D) District Magistrate

Which of the following statutes prescribe punishment for performing any sexual
gestures or acts degrading the dignity of women ?

A) The Indian Penal Code, 1860 B) The Kerala Police Act, 2011
C) Both A) and B) D) None of the above
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st L Gawedled FRLIBLD e ClLicssTewiles LIl GeSL1 LIMTLILIG 96V6vS| LIL LD
g 101G, ClLIMGIeUTS DeUGT WTTTeYILD HeueSHLILIL LML L M6IT 6168 6TH)TLITITS @ LD
@LpBlenevuiled, LI6TaIBLD GSHOSHDHGHF FLOLD

A) Ve10$mL_iged B) o%i9afmi

C) GoumyMad D) wumeSwed gyt midsev

Gagar Gumebev #1_1b, 2011 Qeir aflGsafler &rp, CLTEOFTT FBISGT HL_HLOEHGT
< omib Cung Syeuiser OsFdiuyd e1hs0leurmm CFweevub QEIES
@S (HESTLD LoPMILD SSFHW LIFasenar CLTeOa FL_ailg sengullest Fiilwimest
sareny Csxearalld @Gl LUBSSLIL@LLD 61hs0aiTm bLallgsasullad LpdEHd
QsTL_glitiReu@eitd LIWGTLI(HSSGMLD.

A) o9 CGuimr B) afig Guimr

C) wWehresigsys LIGa 56T D) GuwGe e1g1ayb Q)evemev

Lei6u(pLb 1% FLpblenevuile Frewtmoey GLmeT BLenTS STHLIG 5SH 2 L 6T WiTsk

FHTAUMGHI®OD Bl S5d5 CHemal ?

A) BT YLSHD @QBEBDAT ; YV6VH FL L LILYTOILDTGS LIMEIHTGVRGT LIMgISTLILN6sT
B1p @evenev

B) pui fev 9yLissmest GpwEISErs@ 2 L LI(hSSLILIL UTLD

C) BB weinssTer yMlalssLiul L o Mevwwewd CQFwLIBHSSHI0®SS FBSS BHLIT
SEGULDEODEUTH 2 GITGTTIT

D) Guwlev o ditar 9eneidsiLb

Gsgar smeucd FL1 tb, 2011 61 81p @aibleun Fmauecd BHeowWSHDSGLd Fopsd;
BT TS FLPSFHaT YeLDdS, ILILIGH U 2 GITaT 2 6iTealhT LDSHEHGT FeLpFD:F)6HT
S BGsearisd Csressi(h), &Taucgiempsd Yauisafer sLeweaw BeaopGaiHm
Oung 2 FaNE6T QULPBIS WTIHSE HYBSMILD 2 6Teng ?

A) avCL_ayeT amajev 9SS B) el 1L smeucvgieom seneveut

C) wmbhev sraucvgIenm Femevaur D) wmeul L 59

61BS0leuT(h LITeSeh enFenss6T evevdy) OLIcwTISH 6T Hevsessiidens Q)LayLI(B)GgILb
QewevsassELb LITaILD eThs &L L Lb SeL_earew LASI®ISEDS 2

A) @BFw s _emers FL b, 1860 B) Gsger Gumelev 1”1 1b, 2011

C) A) wpmib B) @ueds(hib D) GuGe s1giayb Q)evemev
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81.

82.

83.

84.

85.

86.

87.

88.

89.

90.

Choose the correct preposition :
He has great proficiency English.

A) on B) in C) of D) at

The Manager discarded the needs of the workers. The synonym for discard is
A) accept B) remind C) reject D) immediate

The orator impressed the audience by his gift of the gab. The idiom gift of the gab
means

A) power of eloquence B) smile

C) facial expression D) qifts given to audience
Choose the correct verb :

The cattle grazing in the meadow.

A) has B) is C) are D) have

The feminine noun of “nephew” in the sentence “My nephew got admission in
Govt. College” is

A) Niece B) Heiress C) Mistress D) Nymph

The teacher said to the boy, “how old is your friend ?”” The indirect speech of this
sentence is

A) The teacher asked the boy how old is his friend.

B) The teacher said to the boy how old his friend is.

C) The teacher asked the boy whether old his friend is.

D) The teacher asked the boy how old his friend was.

The old lady claimed that her ancestors were rich. The antonym of “ancestor” is
A) descendents B) forefathers
C) predecessors D) antecedent

The passive voice of “Let him finish the work” is
A) Finish the work B) Please finish the work
C) Let the work be finished by him D) Finish the work please

The one word for “a person who tries to gain peoples favour by insincerely flattering
them and always agreeing with them” is

A) talisman B) sporadic
C) synopsis D) sycophant
Choose correct tense form :

| poems since lunch.

A) have been writing B) write

C) have writing D) has write
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91. ‘Grrsev’ eretip OFmebad@ i 618 iF0Fmsbencvd Csin0lsHSa 6T(LpFayLD.

A) sewliged B) @spsed C) appad D) asafigzed
92. &b + OlFall etetip ClFmpHeanrs Caidg) 61Lpsid CLng 2 (heum@Lb LB OlFTevenevd;

GCsiiay OlFuis.

A) @p0lFal B) ws46lgal C) wsb6lFal) D) wsep0lFal
93. Wetreupeussaupmyer ‘@evevmaret eTeyyib GClFmevepd @M GlLeTLITe) C)FTevemevd

Osifey CFuis.

A) QevavsH B) @evevrarer C) @evevmer D) @evevmaf
94. ‘uerenL_dsmevd e1etip O)FTVEMeV eTeeITLY LIMESHeVTLD ?

A) UeTenL_ + HmevLb B) wew(® + smevib

C) uesstew_w + HmevLb D) wewpw + srevih

95. Wereupeueseupmyer FAwmrest wmmepd Csiih0)s(HEsHa Lb.
A) BFLDHTSSIS FHDI SILEISE D DIGUTGT
B) wupmieunsir 5510515815 sHDI LIS
C) P SIS S5DSTSSI pDDICITET
D) L mBised mmieuTest $SLD&TS5% SHMI
96. ‘Compatibility’ eretrn OlFmevepid @ Fflwmer Glom Oy 615 2
A) @@e@wliLT® B) qsmfluionged
C) gaclpars Gsreped D) @s8msa
97. ‘Mletever e1esip GlFmevedled LIGTeLoFGlFTG 615 2
A) pair B) o ibewip C) mibewio D) ernbewio
98. ‘aupgsLd’ aahigid ClLTGET @D @CIWSS @ Glom) 61g) 2
A) < B) ar C) Gauar D) Gar
99. ‘@all ereip GlFTevedler Fflwmer Glummeners Cxiay GlFuis.
A) sevavad B) s C) @emb@uasr D) syemrin
100. &Speupeusstaupmier ‘Syeirest e16s1p GClFTVGSIGH @)ementd GlFTeL 618 2
A) Gemmy B) ysiremer C) upear D) @35
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82106l )& A

BRHHUOBHHIW

PrLWOY) @iblre focred

@103 )6IB80S @6 ag)emo : 100

alomocudll modssy : 100

mawo : 90 dladlg’

10.

11.

12.

13.

14.

983 Y0MNIAMIIHWDH6)188 MIdEGUeBwd

. 62108y HSLIOQ MLIME 62106) alj (R ogalamiensm. A, B, C, D agar moel @oso o0y

LIIBE B2I0BY al}(REHEBSIEM M@ M@,

. G210BY ali(RE-OTIOR MBS ST QUGG (AIG® B> EEIBOTIM GIOB YL BOBHUD GHOW @2 Slall

. 80600 HEBNOBOMAIHH Y0 MBIRZIEE 62106 JalJ(YH:> BOBHO BHOW BOAILOS aldle:ud a0ogloal ealal

SETIM coaleq|SyOTQaleno.

. DlEBRHEHM NG 2IBlE6 M BRHHUO BHOWIM MIMio QUI®IRAOW BHIWIRILER G.oI106 yol)(REDO6M

eIElBOIMO®BT @@ HSMS] MANElerIg0Les YBERLYITINA|SICETENE®OEM.

. G2I0BJnI}RE: (EHAMMIAD al)0o 2150OS QILRIGIAINGETD DiEQOMIQ] alBEISYNS. (EAMMUD EHEJOETD

3.010B)al(E006m MIEBRHS RIEIENHIMODEBIT BOED® BOHHO GHOWIRIRES 62106 ali(Rdo MOF]
QUOETBYbs.

. 62103y aljydho Qlei®my moAZIMIM nELIBONEDOR] M@ 6.o1QCEN 0. HEMOODYIBOIMISE @OMIAT]

2IE]240RIRIOO® B2I0BY ali(PdHho MIOBHIM aldslg).

. aldley msesleoes® §e88modmAl miles aElafldlenim €o10sy alieewi@ 100 eolosymsso

(@000 HEEMBO ag)M al@lEUOWIBHHENSmOEM. G2l0B) mg({*ﬁ@:mﬂm‘é @0.2|S1BOOOME®I, &sCIWEMO,
Q15160 I0QEMmO EOW GalRyd(Rd HENSIEIAI; @ONNID HEEMEE:ITD @600 snmalleleriqoies wyaLAGD
OB HW o BIED® @OHHO BHOWILIES aly@EMAOW €2106) alj(ydo BOG] QAUOEBIHW o
£.216QYEMB®OEM. @ aRRAIL0 (LIWIMEQ|S®OEM.

. 07 82108)8alg|dleal 1 a)mad 80 cuanwgs @21068)eMBUd snogflndlale malvlenmoe @rajdlafidlenim;. e

@210B)6IB8)6'S @odMmAao, MmdRRA ag)Tila quoenIMUle] MetdWEmBWEs Eolad @OW yaarmilenas 82106 JETREI6N
@DUWIDRIHH M.

. G103y alRRBOIONR @OITVIM Galgdlmy HMOZYMIMai BIMIo ag)PIBIE NS Bl Gold®BISIeNS.

D OAMOO HeNBYlISIHNIMBIMIBR B30l |3BRBHOIVS] HaIEIUIBHIIZMN®OEN).
OOMOEBUD emmagsgmonb @ROoElH6 ;MM aimi’ 9 emesnsaMilan anialjoomias rldeqgueamnad
©BALIaIIBQ o AU B6)e:.

NAWIEDo HR6eS 80600 ¢alosymmlmio (A), (B), (C), (D) agam moel samasBd mmidlesyo. td
WIODO0 HOOOEHMSIAV 6. ag)o. GDD. HOMOLOSLIOMIG NIMWORS E2I0BY) MMICIMN EMOOWRR (V@]
Wemo qzallaflenym @ialg (snienllid) mo@o Sl d046a 0 IO Gald@IM@ Galm Halewoulla]
B0 |86 )d.

69600 VAW EMEEIIM o B0} DB EIEBHIBD Jo BOBRI OMREMAEIMo 1/3 @0dH6 Maymo)B®:@ 0
6.21Q}J0. HOMAO BOEUOQISIOMIAD B2I0BY6IBRHE AODHE MU BH@lg).

@0 VAo HAIMEIN 238MI0, HEBOLOSLIOM MO NEEIge0 aR@alecn0emEwI 60} HEEPNB®A
@Yo al@let0a00td Qg aljOEmYBAIIEIM aldsSlg).

mdeqneBwd &drmaswf] aloellesnemmoam. aldled@md (H08EHS MSEMIGHEWI AGIMISs ¢ymo
MSEMYSEWO 6.21930M HBBHNIAMIH68 @PEWOMN J0IW (al6uyoallen;mmosn.
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